STX &% — BERE
(RN AR 2R ST AT TR I 4158

C ARKGIEE

O
c B ] Hj jji BEfI: kof
g o i SEEE =B (kafiemz)
mm mm cm? 1 2 3 4 5 6 7
@10 @6 1.0 1.0 2.0 3.0 4.0 5.0 6.0 7.0
@16 @8 3.0 3.0 6.0 9.0 12.0 15.0 18.0 21.0
@20 @10 4.72 4.71 9.42 14.1 18.8 23.6 28.3 33.0
@25 @12 7.54 7.56 15.1 22.7 30.2 37.8 45.4 52.9
O U EEARARE  BRIRA - BEBESENREMNRERMNEE - (195 70% ~80%) -
O BEBxE O EERERER .
B mm
ER t & (mm) | @10 ‘ @16 ‘ @20 ‘ @25 HT4E mm) EETi2
EENE K WD EL
{E e k1 @10 10~20+~30+~40+50~75~100
FRRNEE kgf / cm? (kPa) 1~ 7(100 ~ 700)
RAERESN kgf / cm? (kPa) 9 (900) @16 10+~20~30 4050+ 75 100 » 125 ~ 150
FERREEE °C -10 ~ 60
ERAREHE mm/s 50 ~ 500 @20 | 10~20~30 405075~ 100 » 125 » 150
TR EE 5~0
BEEBEOK M5x0.8 PT1/8
AEERANE @25 10~20+30 405075~ 100 » 125 » 150
BERE PR FERE R

O FTIEMITUSR

STX 20 x 50 - 6T 2
1 2 3
e E =E AR ®E 1T 12
10 — @10 @10 — 10 ~ 100
16 — @16 @16 —10 ~ 150
20 — @20 @20 —10 ~ 150
25 — @25 _10 ~
@25 —10 ~ 150 cs6T o712
STX : ;BARE | - TIHBAER

BRI (CS-6T)

Bk ERR
ERAES (EECH)



STX &% — BaRiEL
T RBRERMEER

Y

C BHBWAMHR

4w SR Q= =1 4R Sk 5 H L =1
01 x B8 RE® 13 BRER HE®
02 Bl & S$HE 14 1BEIRE % B
03 EOE HWER 15 A7 AR H CEA
04 B O SRE® 16 EAVAN::L A =
05 g AR SR 17 LB IE SR (E8F) A2
06 HMOCEEE RE® 18 LEfTE2RG (RALA) a2
07 L5 1] 2B B 19 ORUIR (RFLA) [p::)E
08 E B 5 20 OBYIR (X8 M) [l
09 R4 ZORIIR ifid 56k B2 21 12t e
10 VEE-SEES ifis 36 B 22 CEUIIR AEi
11 MABEER i o B 23 SRR CER
12 ERELPES SHEF
SO i ABHINBIRAEEBEEE o
C BEROEREHR
B B AIEZOBYIR EEREE B ARB R OBUIR (maLM) OBUIR (xafm)
HTHE o —— D 8 2 4 2 4
@10 78 x @1.5 DYP-10(4 pcs) PDU-6 @2 x F1.5 4 x @1
@16 @14.5 x F1.5 COP-16 PDU-8 @2 x F1.5 @6.3 x @0.8
@20 @18 x @1.5 COP-20 PDU-10 @2 x #1.5 78 x @1
@25 @21.8 x @2.4 COP-25 PDU-12 D4.4 x @1.8 @10 x @1

LO s ZE0RReAaR  2EA%OK8 (=% RERERSHIER ) -




STX &% — BHERIEL

et - RRS2ETEH

C BFfRMAEE

$w
I s — ~ 40 \
— STX25
20 ‘ \
STX20
10 b=sTx16 \ \
\\ \\\
bo N
. [ STX10 \
\
] == :
2
I s e @
o 1 Y
\
0.5
0.4
4 0.3
35
0.2
5 3
< 25 STX25]
EH 0.1
2
= B S— .
i’{l:iu'ﬁ 15 STX20] 0.05
1 STX16 0 50 100 200300 500 1000
0.5
S"I'X:LO 1EENRE VP (mmis)
0 20 40 60 80 100
REATRE (mm)
C BFFHERE C AEHEBEE
T
£
i R 5
% —= 5|
KX |
e = Lo —BeT—
--J T —=
FEER Him
{1 18 (mm) @10 ~ @25 FI1E (mm) @10 ~ @25
BEFER =2 +0.03mm TEEEEe° £ 0.1°mm




STX &%l — BaREL

SMBEERRT - 410

©C STX @10 x []

zz
17 8 S+9 8
1] _15 4,
will
| N o Y — b
s & &
$ 7w R (R p— L
Fw
O < i [Te) nl o —
< < ™ ™ N

! it
el

[

s
-

,,,,,,, &
e — “1;

2-M4x0.7p Ei& »

4-M4x0.7p 2-M3x0.5p AR 114l 26.5x3.3 X (WH)
BEEFL [E TEbR A
_ 20 2 (20) _, 4-M3x0.5px4.5%
‘ } (Fm)
- & B
n -
TR Sq gy G

4-M3x0.5px5;F

4,

2-M5x0.8p

EHEA

@

GE) JT \
o | —
1]
O R&
T

g~ mm 10 20 30 40 50 75 100

S 10 20 30 40 50 75 100

SS 92 102 112 122 132 157 182

Yy 136 156 176 196 216 266 316

Z 52 62 72 82 92 117 142

S @0




STX &% — BHERIEL

SMBEERRT - 916

©C STX @16 x [ ]

i Q@‘@@ .

zz
20 10,9 ss S+9 .10
1_]_18 ! 25 z (25)
- |
! —t
O e e g}
2 8 ¢ | g 8 —Hit 3
@ : = | |
b of -
T
- *ijk \ 2-M5x0.8p \ 2-M5x0.8p & »
=&k = N
smsx08p \\ 2-M5x0.8p AR FEAL 08xa.4 R ()
El B ERHR
25 @ (25) 4-M4x0.7px5%
| (PTE)
\
o) I sy & @‘f ;@ 49(/ +-—13-
=
EHRA
4-M4x0.7px6 7F 5 _ (25) (4] (25) _, 2-M5x0.8p i
(FRITE)
R %
. ,,7,(%
o b C— -t
¥ N
C RY&
7
foge ~mm 10 20 30 40 50 75 100 125 150
S 10 20 30 40 50 75 100 125 150
Ss 105 115 125 135 145 170 195 220 245
zz 153 173 193 213 233 283 333 383 433
z 55 65 75 85 95 120 145 170 195




STX &% — BHERIEL

SNEERRT - 920

© STX @20 x []

Y4
25 12 .12 ss S+12 12
1 23 6, ‘ 30 z (30)
) |
\
n
3 9 8 3 2 B
@\ :#
115 2-M6x1.0p 2-M6x1.0p Ei&
EE 2 7E
4-M5x%0.8p 2-M6x1.0p SHEEIRIE FF|, ©9.5x5.3 K (M)
EEFL B EBE A
‘ 30 [v4) (30) _, 4-M4x0.7px63%
|
o | o ‘ )
© (2]
L / LA
JE— 1 {%,%hgﬁ i mfﬂh},
\ o
e [/ W |F
) [Te]
o 44 ~ 44
2-M5x0.8p
HEHREAL
4-M4x0.7px6iE 6, (30) @ (30) 2-M6x1.0px10 i®
(FATE)
o
Te]
Q- %
C R~f&
e ﬁﬁ 10 20 30 40 50 75 100 125 150
S 10 20 30 40 50 75 100 125 150
SS 120 130 140 150 160 185 210 235 260
zZ 178 198 218 238 258 308 358 408 458
A 60 70 80 90 100 125 150 175 200




STX &% — BERE
SMRERRT - 925

© STX @25 x []

2z
30 S+12 12
1| _ 28 6
—
=
,,7,({,
n
g 2 8 g 8 —g87 3
\ ,,,,, ,{? )
n
- 14 2-M6x1.0p 2-M8x1.25p8 &
4-M6x1.0p 2-M5x1.0p SRR HFL @11x6.3 IR (R H)
BIEAL [E ERE A
30 2 (30) . 4-M5x0.8px7.5%
‘ i (FE)
. r 9 -
J I & ,7,%,,, ®
4 ' ]
46 46 o
2-Rc 1/8
EHRA
4-M5x0.8px7.5:% 6 (30 2 (30) _ 2-M8x1.25pH;i&
(FE) u» ‘ |
i _A @ }
8 EIS ) & Sic}
T I—q
)
C R~f&
] ﬂ'ﬁ 10 20 30 40 50 75 100 125 150
S 10 20 30 40 50 75 100 125 150
SS 122 132 142 152 162 187 212 237 262
7z 180 200 220 240 260 310 360 410 460
z 62 72 82 92 102 127 152 177 202




STX &% — BEREL
HEREERERS*

RERERUE

REREENAR L > EFEBHMEL
RUFERRES > MBS IR M EFRMAEEZ
EE ; MEZEMMEEMAE 0.5mm

ERZBRE -

BEEE

EEEEUBESER > MSRERMZEE
REEE > HEEFARMZREH[E

TBERYE - (BSMTFRYRE) o
B{L:mm

HiE CS-6T

SRUELELE B {ESEE (F) RFEE (R)
210 5 11
216 5 11
212 8.5 1.0
216 10 1.8

C RESRZIREADFEE

|
! BiriE (F)!
L ssmens

C RFESRER

CS-6T
fEREE : DC5~ 120V
AC 5~ 120V




	3.0-B_部分645
	3.0-B_部分646
	3.0-B_部分647
	3.0-B_部分648
	3.0-B_部分649
	3.0-B_部分650
	3.0-B_部分651
	3.0-B_部分652

